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1. A pure breeding (homozygous) tall pea plant is crossed with a pure breeding dwarf pea plant.
Given that the gene for tallness is dominant to dwarfiiess, determine the genotypes and phenotypes
of the first filial generation (F1) and second (F2) generation offspring.

Let the symbol “ T “ represent the gene for tallness and let “ t “ represent the gene for

dwarfness.
Parents: phenotypes tall  x dwarf
genotypes TE " x t
1st generation:

Offspring: genotypes =

phenotypes =
To obtain the second generation(F2) cross two of the first generation offspring.
Parents: phenotypes tall  x tall
genotypes i1 X Tt
2nd generation:

Offspring: genotypes =
phenotypes =

2. Cross a pure breeding black coated guinea pig with a pure breeding white coated guinea pig.
Given that in guinea pigs, black coat colour is dominant to white coat colour, determine the
genotypes and phenotypes of the first and second generation offspring.
Let the symbols: B= black / b= white
Parent: phenotypes X

genotypes X

1st generation:

Offspring: genotypes =

phenotypes =
Parent: phenotypes X
genotypes X

2nd generation:

Offspring: genotypes =
phenotypes =





[image: image2.jpg]3. A hybrid (heterozygous) wire haired terrier is crossed with a pure bred smooth coated
dog.Given that in dogs, wire hair is dominant to smooth hair, determine the genotypes and
phenotypes of the F1 generation.

Let the symbols: _ \WJ 2 woire hav / Loz Sawol

Parent: phenotypes %
genotypes x
1st generation:

Offspring: genotypeé =
phenotypes =

4. In guinea pigs, rough coat is dominant to smooth coat. Determine the possible genotypes and
phenotypes of the offspring if two rough coated hybrid guinea pigs are mated.
Let the symbols: p-.;ou.,;l L/Ts € st

Parent: phenotypes X
genotypes e
1st generation:

Offspring: genotypes =
phenotypes =

5. In fruit flies, red eyes are dominant to white eyes. Determine the possible genotypes and
phenotypes of the offspring if 2 homozygous red eyed fruit fly is crossed with a heterozygous red
eyed fruit fly.
Eathpiols: B s sideuss | Pudohify
Parent: phenotypes ' 5

genotypes X

1st generation:

Offspring: genotypes =
phenotypes =

6. A hybrid black guinea pig is crossed with a pure bred black guinea pig. Determine the
genotypes and phenotypes of the offspring , given that black coat is dominant to white coat.
Let the symbols: B = blac& / b= w ki
Parent: phenotypes X

genotypes b

1st generation:

Offspring: genotypes =
phenotypes =





